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It should not enter your mind, for we learnt, Rabi Yehudoh adds, etc.

OVERVIEW
The X3, while discussing whether > is 28 03p»2 77230 207, states that certainly
"9 is 27mn for a a8 2PN 779N, since the Xn»72 teaches that > adds pIpT) vaw. !

NIl

mooIn explains why (according to this view) >"1 mentions pTp71 VW specifically.

mooIn responds to an anticipated question:
= AN DIPN NTIINN 29NNT DIVN NNNY 2297 RNDYVT PNYT XPOD NPT INND 'Y

According to our current assumption that the reasoning of >''1 is because he is

AR 2IPR2 TTVINR 297 -
- Z54193) VAIY 290 VDI INNIN

Why does he prefer to mention P7p7%y w3 specifically —

mooIn responds:
= 3aN D793 NTDINN 299N 333 19297 PHYT RPIDT 999109 NIIN

One can say that at this point we are assuming that the 3139 are also 2°n»

AN 2PN TTYINN -
= DN TO WNNM 13910 RIX NTIN 13991 INDT 299N PP VWA NN 199 XD

And the 7127 only argue regarding p7p72y w22 whether one is 217 for them 21p»2
their respective Max of 371X 70°1, and the 7127 maintain that p7p72) vV2W are not
M79n but rather they are exactly 31K 722

moon offers an alternate solution why PP ©21W is mentioned specifically:
$99INP NN 2297 6999299 AN DIPNA NTIINN 1929 22N NI 513 N

'See TIE =on 1"7 'on 2,7y naw footnote # 1 which explains p7p721 v2W. The X M3 assumes that PTpT™ VW are

m72n and yet > is 27nn for them even 287 D3pn3; proving that > is A8 DPH2 772INK 270,

2 He could have mentioned many other 7710 that one is 2»n for them even 28 ap»a.

3 Therefore "1 could not have mentioned other m721n, for regarding them the 1137 also agree that one is 777X 21

aX opna.

45" maintains that p7p71 VW are M0 and distinct from 37X 707, so therefore there are additional @21n (since

we are IR D1pn2 772I0R 2°1n), however the 0°non maintain that PP 7 VW are the exact equivalent of 3R 70°1 so

there cannot be any extra 021 (even though we agree that 28 0p»2 77910K 2n), since he is doing the same thing. It

is as if he would be doing 3R Jo°n continually 718 02vn3, where he is only 2711 once.

> mooIn may not be satisfied with the previous answer because it is unlikely to say (even as a 7"0) that the o°nan are

2X 0P 770K 271, See ‘Thinking it over’.

6 The 1127 are saying to *"7 we maintain that one is never a8 Dp»a 77210X 27, but even if you maintain that one is

IR DR ATPINR 207, at least admit that by p7p7 021w one will not be 2»n, for they are not M2 of 3R Jo°n, but

they are the exact equivalent of 37IX1 70°n. On the other hand "1 mentioned P77 VAW because he maintains that
1
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Or you may also say; the j139 are not a8 2p»2 779INR 21, rather they are
referencing the view of 3''-.

SUMMARY

It is possible that the 13127 are also aR DIpna 772X 2»nn, and they only argue
regarding pP7PTM VAW, or they disagree but mention pP7p71 VAW for in that case
even *"1 should agree that it is not a 77210 but rather the ax.

THINKING IT OVER
Is there any advantage in m»o1n first answer over the second answer?

even pTpTRY LW are not the same as A1IRY 70°» but rather its 117210 so therefore one is 2°°11 for them even 28 opn2.
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